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For such achromatic conversion we can end up with vertical linearly polarized light:

if we set the final angle
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From the definition of the angle ϕ we see that the needed values of 
would be achieved when:
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589nmλ =

760nmλ =

434nmλ =



Summary

• Start from Maxwell’s equations

• And show that polarization evolution equations are equivalent to 
Schrödinger equation for two state atom

•Apply the adiabatic solution for the polarization evolution using 
the analogy with two state atom

•Thus we get adiabatic ACHROMATIC retarder
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Thus we rewrite the last equation as
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